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[ STUDENT > #Influence de la force de Coriolis sur la formation d'un

cyclone au Nord

[STUDENT > restart;
STUDENT > eqdr:=-f+2*rho*w?*r (t) *diff (theta(t) , t) alpha*dlff(r(t) t

)=rho* (diff (xr (t) ,t,t) -x (t) *diff (theta(t) ,t)"2);

d o &
eqdr—~f+2pwr(t)( G(t)) (—tr(r)J:p((—r(t)]—r(t)( O(t))J

r STUDENT > eqdtheta:=-2*rho*w*diff (r(t),t)-alpha*r(t) *diff (theta(t)

,t)=rho* (2*diff (r (t) ,t) *diff (theta(t) ,t)+r (t) *diff (theta
(t),t,8));

2
ethheta:=—2pw(§r(r)) ocr(t)( G(t)) ((*r(f))( 9(r))+r(r)[—(’?—9(r)D

:STUDENT > £:=10000/1000000; rho:=1.29; w:=2%Pi/(3600*23+56%60+4);

alpha:=0.0002;
1
100

p =129
1
wW="__T
43082
o =.0002

systeme:={eqgdr,egdtheta}:
systeme:=evalf (systeme) :
CI:={r(0)=1000000,D(xr) (0)=0,theta(0)=0,D(theta) (0)=0}:
s:=dsolve (systeme union CI, {r(t),theta(t)} ,numeric) ;
s .= proc(rkf45 x) ... end
with (plots,odeplot) :
odeplot (s, [r(t) *cos (theta(t)) ,r(t)*sin(theta(t))],0.. 864
00, numpoints=500) ;
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